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PC No.
1 JAC/AL 15,2.0,3.0,4.0
Fce| 9.0, 135, 18.0
PC , VAcl AL 15,20,30
Fce 30, 50, 80
& (mm) 28 , 40 , 70 , 100
o/d 0.224,0.32,0.56, 0.8
Fce 30, 50
(Fce N/mm?)
2
(N/mm?)
2 No. Fee
. (N/mm?) (x10°)
2.1 Fce=9.0-A.B 9 8.0 | 0.98 1.35
1 1 [Fce=135-AB| 135 11.3 | 1.36 1.62
@ Fce=18.0 18 | 176 | 178 | 213
Fce=30 30 203 | 261 1.69
2 Fce=50 50 516 | 3.16 | 3.39
1 Fce=80 80 73.0 | 4.32 450
3 1 sh30N 30 39.2 | 2.86 | 3.08
sh50N 50 486 | 3.23 | 341
2
3
JAC/Al Ac
Al Fce | WIC W C S G
N/mm?| % kg kg kg kg kg
30 47 156 332 797 | 1099 | 1.49
50 36 158 439 721 | 1078 | 1.976
80 23 165 717 608 940 10.8
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G¢p Ec O¢p Ec Op Ec Gp Ec
13.5N 135 1.4 55.7 3.3 69.3 - - -
13.5N-G | 144 19 53.2 3.4 68.3 4.6 26.1 2.2
30N 39.3 3.0 55.5 34 68.3 4.6 - -
30N-G | 36.4 3.1 56.1 35 69.7 5.6 27.7 2.0
50N 54.4 3.4 - - 70.9 5.6 - -
50N-G | 56.1 35 - - 69.7 5.6 27.7 2.0
( 6w N/mm?*  Ecx10* N/mm?)
6
Fce wWi/C W C S G AE
N/mm? % kg kg kg kg kg kg kg
13.5 97 159 164 938 975 85 0.52 | 0.03
30 47 156 332 797 | 1099 - 1.49 -
50 36 158 439 721 | 1078 - 1.976 -
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